Support Leg Mounting Guide

1: Mounting of post bracket
Replace the M8x16 Flange bolts on the nef with the Pos. 7 Flange bolts, and remount
with Pos 1. Post bracket bracket. Mount the “long” bracket (Pos 2) acording to the view beneath

3: Mounting of ground bracket

1. Mark up hole.
2. Drill the hole.

2. Post suppport leq assembley

Two additional lock nuts

have been added to

secure the two Pos. 5 Bolts additionally
if need araises, they can be exluded

"ty
(((((((
(((((
(I
I |||| ||||||||| (@
i
||||||||||||||||||”HHHH\|i "T(((((((((((
W
(
i
e Al
ity i el il
el I |||||| H||||| ||||||
HW|||III||||||(((r((( ,,,,,, g el
||||||||””f(r(' ““““ i gl
o il
i (sl ||
It IHHH(«««(««'{"“

3: Mount Pos. & ground bracket by using Pos. 6 expansion bolt.
L. Mount Pos 4. with the includeded washer and hex nut.

PARTS LIST
ITEM| QTY |[PART NUMBER DESCRIPTION
1 1 |A003-235-1 |Post bracket
2 1 |A003-235-2 |Bracket “Long”
3 1 |A003-235-3 |Bracket “short”
b 1 |A003-235-4 |Ground bracket
5 | & [M001-289 M8 x 16 Flange bolt
6 | 1 |M001-071 Expansion bolt - M8 (Washer and nut included)
7 2 |M005-289 M8 x 25 Flange bolf
8 3 |M001-196 M8 washer
9 | 6 [M001-197 M8 lock Nut

NTF-Aalborg A/S | Hagensvej 17

DK-9530 Stoevring | +45 98 37 37 66

ntf.dk | fencecreator.com


https://www.ntf.dk/
https://www.fencecreator.com/

